BAZ4 BindEzRiER
\ =W £F LS K
TRFbIvI-52%2772015 A F—TF P o SV
EFIE cowo EFIE cowo
9 EE % T i@ Il {5z B/ Il {5z B/ R Il {5z B/ R Il {5z & iz = &t
1 Ak mE INCET PR s2 12 t1 20 s1 t1 50 82
2 I BETF ERAETAE p1 20 i1 p1 50 70
3 FE BEA BAKE RS i1 12 i3 10 p2 15 pd i3 30 67
4 EmmE BRFEEXRE LN 12 B L T S 2 . 2 4 62
5 hH BF BERAFEXE i2 15 i2 p3 36 51
,,,,,,,, 6 EH XW = ®AX¥ 1 12 6 7 . p4 10 & . p7 20 49
7 A BE PN t1 12 t4 10 t4 p6 24 46
,,,,,,,, 8 kMR 0020 BWEX® 0 4 6 6 6 p5 8 | s5 . 8 19 . 39
9 HE BE [ESbNEa 2 10 t5 8 p5 i7 20 38
,,,,,,, 10 BR MF  BEBEEXR® 88 t3 032 32
10 &HE £3 [FEISPN-A W t3 12 s6 6 20 32
,,,,,,, 12 B BERE 0 BAWEX® . tr . 5  pr_ . 6 6 . p8 17 . 28
13 BHE 4% ERAEAE s4 t5 26 26
,,,,,,, 14 %@ BxE o hRA®¥ 8 | 8 8 4 o8 T 19
15 FHE £ JI\FERKRE i4 14 14
,,,,,,, 16 o e BAKEX® e o2 12
17 =@ BE AL i2 10 10
17 3RO EF BAREKFEXRE L2 10 10
19 hE BHT  REEx® 6 4 i 5 9
2017.1.15 1/1



BAZ4 QEndE ik ER
/ .
BFrSYT-5%42015 i—"‘?‘-‘iﬁ é:—'«ff RERG Koy
ETiE ETiE b5v7
Svy K & El IE B A IE B A IE £z JIE 1z BA ait
77777 1 INR HER HRKXE s1 12 t2 15 s1 t6 35 62
2 Hix EF PN t1 12 t1 20 t3 16 48
77777 3 BE &KX BEAREAS s2 t1 45 45
3 MK RE BAAKEKE p1 20 p1 25 45
77777 3 W &h HRKXE s2 10 k4 10 k1 25 45
6 5 =k BAKE s4 6 k1 20 s3 16 42
77777 7 EEEE REREEKRE p3 8 c1 20 p5 12 40
8 B2 AR R i1 12 i1 20 i8 7 39
77777 9 HE &R HRKXE t1 12 t7 6 t2 20 38
9 B 1Ea thR K& p7 3 p2 15 p2 20 38
,,,,, 1 BAR BE BAKRE s1 12 s2 15 s6 10 37
1 £ B3 BREXE k1 12 k8 5 k2 20 37
77777 13 BE 1K BEXE s3 8 s3 12 s4 14 34
14 £1A =8 thR K& s2 10 t5 8 s8 t8 14 32
77777 14 R FE BAAKXE s6 4 s1 20 s7 8 32
16 E ER HREKXE p2 10 p3 12 p7 8 30
77777 16 \BEKR Eth [EESep = p4 6 p4 10 p4 14 30
18 =t Rt thR K& i4 6 i6 7 i3 16 29
,,,,, 19 B HEE BAKRE i3 8 i5 8 i5 12 28
20 ¥& Mg ERATKE s5 t4 26 26
77777 20 A PN =k PN c1 12 p6 7 p8 7 26
22 BAR Ef BEERAEXRE p1 25 25
77777 22 FE W EEAEAE i1 25 25
22 £H Bt HREKXE c2 10 i2 15 25
77777 25 FEH #th HRKXE c1 12 c3 12 24
26 AR EE N i1 12 i4 10 22
77777 26 #0O B2 BAAKXE i2 10 i3 12 22
26 # BE ERKE t2 10 t3 12 22
77777 26 o & N i6 4 i7 6 t5 12 22
30 FAX B AR k7 3 k7 6 k5 12 21
77777 31 ithig = BEED K i2 20 20
31 BAR H% thR K& c8 2 t4 10 t7 8 20
77777 33 TR B N p1 12 p7 6 18

2017.1.15 1/4



BAZ4EBGREHBOER

i) £HK .
BFrIVI-FUFJ2015 s s KRR LS
EFHE EFHE S
S D7 B g iz B A g iz B A g iz g iz B a5t
33 PR = EBA=al N k6 4 k4 14 18
35 iR BE [EEScp = k3 16 16
35 NHE FEE BAXZE s3 8 s5 8 16
35 L F/E PN k4 6 k6 10 16
38 B B BEEAETRE c2 15 15
38 RE ZRRE BAKE k2 15 15
38 ZH =N REREEKRE p8 5 i6 10 15
38 FE OHE HAKE k2 10 t8 5 15
38 BA &% BAKE p5 5 p6 10 15
38 WA EH BAKE s5 5 s4 10 15
44 P i BfMEAXE i4 14 14
45 BA BEEAERE k3 12 12
45 hH MER REREEKRE p1 12 12
45 MA 2 HREKXE k1 12 12
45 B KAk HEXE s4 6 s7 6 12
49 RO 5E— HREKXE k6 4 s6 7 1
50 KRR £ N c4 10 10
50 BEH #E [EEScp = c2 10 10
50 =% HE HEKXFE t2 10 10
50 ER BAGFEKRE k2 10 10
50 Hig BE BAKE p2 10 10
50 B TiE IGEERE i2 10 10
50 Nt Bt RE K c5 5 c8 5 10
50 BHE —F BAKE k8 2 k5 8 10
58 BiE Rt N i7 3 c7 6 9
58 BE XM BAKE t8 2 c6 7 9
60 Hft K— KR k7 8 8
60 ERR Eth BAAKXE i7 8 8
60 =5 B3 P PN-= p5 8 8
60 INE TN PN c5 8 8
60 #HA X HRKXE i3 8 8
60 AT Bt HREKXE c3 8 8
60 ERK g8k HRKXE k3 8 8

2017.1.15

2/4



BAZ4EBGREHBOER

g 28% .
BFrIVI-FUFJ2015 s s KRR LS
BT BT Al
K % i B g i B A g i B A g i I fsz ] &t
B A PN 13 8 8
=M A EEPN - p3 8 8
XE RE EEPN c3 8 8
B3 AR AKX k3 8 8
TS ] EEPN 13 8 8
WA EF AKX k8 7 7
RE RE BEEFRBAS k6 7 7
M=EPS BEEFRBAS t6 7 7
g 2 KIREERS kd 6 6
B A REEEARS c4 6 6
| EE REEERS t4 6 6
WnA HE EI=pN- i4 6 6
i BA BHEKS pa 6 6
ET I AKX c4 6 6
&I Bt BAKXE t4 6 6
Bl B JEX 2 K% s8 5 5
5 9K EBKS i8 5 5
HN HE JEX 2 K% i5 5 5
EX H# IER 2 K% 5 5 5
21l sk R A% c5 5 5
# B RS i5 5 5
= " PRAY s5 5 5
kaK BEE BHE A p5 5 5
TS EI=pN- 5 5 5
BiE KM BAkE K5 5 5
TS EE TGRS K5 5 5
B i JEX 2 K% c6 4 4
INE % R KE p6 4 4
KE AIZEK BHEKS c6 4 4
BE EA EI=pN- i6 4 4
B’ AR HEXE s6 4 4
xa B PN 6 4 4
A X RPN 6 4 4

2017.1.15 3/4



BAZ4EBGREHBOER

s ROE £8% REHH -
BFrSYI-50%252015 B i NEN: rSvs
EFE EFE

vy K 4 i@ & 42 B R & £z B R & £z & 42 B &%
93  BO BX Bt K t6 4 4
93 BEH M N p6 4 y
102 EA B4 IER & K s7 3 3
102 Al HE BAXZE c7 3 3
102 (FN & gEKF k7 3 3
102 1R BS FHEKZ i7 3 3
102 Rk BERER HEXE p7 3 3
102 ElE =X RELKE s7 3 3
102 M RELKE t7 3 3
102 #HK B PO c7 3 3
110 W R BT KE s8 2 2
110 & RA IER & K i8 2 2
110 LA K p8 2 2
110 & R HhERAZ k8 2 2
110  FIE X gEKF c8 2 2
110 |&iE #S gEKF i8 2 2
110 w17 BAXZE t8 2 2
110 = BLTXRE s8 2 2
110 Rkm BE MAEERE p8 2 2

2017.1.15 4/4



